How many carpal bones are there in the human wrist

* A. There are 10 carpal bones in the human wrist
* B. There are 12 carpal bones in the human wrist
* C. There are 5 carpal bones in the human wrist

* D. There are 8 carpal bones in the human wrist

Which carpal bone is most commonly fractured in the wrist

* A. Scaphoid
* B. Hamate
 C. Trapezium

* D. Triquetrum

What is the largest carpal bone in the wrist

* A. Capitate
* B. Scaphoid
» C. Trapezium

e D. Lunate

Which carpal bone articulates with the radius and ulna

* A. Trapezium
* B. Scaphoid
» C. Hamate

* D. Triquetrum

Which carpal bone is commonly known as the "hook of the hamate”

* A. Scaphoid



* B. Hamate
* C. Triquetrum

* D. Trapezoid

Which carpal bone is located on the thumb side of the wrist

* A. Trapezium
* B. Hamate
 C. Scaphoid

e D. Lunate

Which carpal bone is shaped like a boat

» A. Scaphoid
 B. Capitate
» C. Hamate

* D. Trapezium

Which carpal bone is the most commonly dislocated in the wrist

* A. Scaphoid
* B. Hamate
e C. Lunate

* D. Triquetrum

Which carpal bone is located on the pinky side of the wrist

* A. Scaphoid
* B. Radial
e C. Ulnar

e D. Lunate



Which carpal bone forms the base of the thumb

* A. Hamate
* B. Lunate
» C. Trapezium

* D. Scaphoid

Which carpal bone is shaped like a pea

* A. Scaphoid
* B. Trapezium
* C. Lunate

* D. Pisiform

Which carpal bone is known as the "greater multangular”

* A. trapezium
* B. scaphoid
* C. pisiform

* D. hamate

Which carpal bone is located between the trapezium and capitate

* A. Lunate
* B. Scaphoid
« C. Hamate

» D. Trapezoid

Which carpal bone has a tubercle for the attachment of ligaments

* A. Scaphoid



* B. Triguetrum
* C. Lunate

* D. Trapezium

Which carpal bone has a prominent styloid process

* A. Hamate
* B. Trapezium
» C. Radius

* D. Scaphoid

Which carpal bone is commonly referred to as the "trapezoid”

* A. Hamate
 B. Capitate
 C. Trapezoid

* D. Scaphoid

Which carpal bone is located distal to the scaphoid

¢ A. Lunate
* B. Trapezium
e C. Hamate

» D. Capitate

Which carpal bone articulates with the metacarpals

* A. hamate
* B. lunate
* C. scaphoid

 D. trapezium



Which carpal bone is commonly fractured in athletes

* A. Lunate
* B. Trapezium
* C. Hamate

* D. Scaphoid

Which carpal bone is located at the base of the index finger

* A. pisiform
* B. trapezium
* C. hamate

e D. lunate
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